

Pay Estimate Created Date: November 17, 2025

Progress Estimate Number 20	Contract ID Prime Contractor	240920- H.R. Qu	-H02 adri Contractors, LLC		Period Start Period End	November 2 November 1		Original Contract Amount Net Change Order Amount Current Contract Amount	\$26,443,934.2 \$68,167.7 \$26,512,101.9		
Approval Date									By User		
November 17, 2025			Generated and	Generated and Approved (and should be considered Draft) at the Project Office Level by							
November 17, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								stottt1		
November 18, 2025				Revie	wed and Appro	oved at the Co	entral Off	ice Controllers Office Level by	ramses1		
Original Completi	on Date	Current C	Completion Date	Actual Completion Date % of Current Contract Am					t Complete		
October 31, 20	026	Octob	ber 31, 2026 36.98%					36.98%			
	Contrac	ct Informa	tional Dates					Milestones			
Date Description	Original Complet	tion Date	Current Completion	Date		No Mile	No Milestones Exist for Contract				
Acceptance Date											
Awarded Date	October 2, 2024		October 2, 2024								
Letting Date	September 20, 20	24	September 20, 2024								
Notice to Proceed Date	November 4, 2024	1	November 4, 2024								
Work Began Date											

Contract Total Pa	ay For Estimate No. 20			
		This Estimate	Previous	To Date
240920-H02				
	Total Posted Items Pay	\$1,126,519.00	\$8,677,924.60	\$9,804,443.60
	Gross Item Adjustments	\$10,128.08	\$145,144.77	\$155,272.85
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$8,823,069.37	\$9,959,716.45
Contract Total Pa	ayable This Estimate:	\$1.136.647.08		

Contract To	tal Payable	This Estim	ate: \$1,136,647.08				
tems Paid T	his Estimat	te Period					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3751	0410	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	EA	\$600.000	1	\$600.0
	0690	8051000A	SEEDING - COOL SEASON GRASSES	ACRE	\$2,250.000	10	\$22,500.0
	0760	8061017	TEMPORARY SEEDING	ACRE	\$1,050.000	22.700	\$23,835.0
	1160	7034219A	TYPE D BARRIER	LF	\$150.000	235	\$35,250.0
Project J9P	3751 - Tota	ı					\$82,185.0
J9P3764	1600	2051010	MODIFIED SUBGRADE	SQYD	\$6.000	250	\$1,500.0
	1655	3049905	MISC.MODIFIED ROCK BASE	SQYD	\$20.000	250	\$5,000.0
	1670	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$170.000	82.030	\$13,945.1
	1700	5021107	CONCRETE PAVEMENT (7 IN. NON-REINF)	SQYD	\$75.000	314.500	\$23,587.5
	1800	6113010	FURNISHING TYPE 1 ROCK BLANKET	CUYD	\$10.000	130	\$1,300.0
	1810	6113030	PLACING TYPE 1 ROCK BLANKET	CUYD	\$50.000	130	\$6,500.0
	2030	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	EA	\$600.000	1	\$600.0
	2080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.200	17,216	\$3,443.2
	2090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.200	17,213	\$3,442.6
	2140	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$3.000	243	\$729.0
	2310	8051000A	SEEDING - COOL SEASON GRASSES	ACRE	\$2,250.000	10	\$22,500.0
	2390	8061017	TEMPORARY SEEDING	ACRE	\$1,050.000	3.600	\$3,780.0
	2415	4030404	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	SQYD	\$51.000	15,875	\$809,625.0
	2480	4010107	7 INCHES, BITUMINOUS PAVEMENT	SQYD	\$33.000	4,134.600	\$136,441.8
	2600	9031270A	2 IN. PSST POST - 12 GA.	LF	\$24.000	144	\$3,456.0

Revision 10/17/2025 Page 1 of 29



Pay Estimate Created Date: November 17, 2025

Progre Estimate N 20		Contract ID Prime Contr	240920-H02 ractor H.R. Quadri Contractors, LLC	Pay Period Start Pay Period End	November 2 November 1	,	Net Change	ontract Amount e Order Amount entract Amount	\$26,443,934.21 \$68,167.75 \$26,512,101.96
Project Number	Line Number	Item Code	Item Desc	cription		Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3764	2610	9031271A	DRIVEN POST ANCHOR FOR 2 IN. F	PSST - 12 GA.		EA	\$300.000	9	\$2,700.00
	2620	9031280	2.5 IN. PSST POST - 12 GA.	IN. PSST POST - 12 GA.			\$28.000	64	\$1,792.00
	2630	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN	. PSST - 7 GA.		EA	\$400.000	4	\$1,600.00
	2640	9035004A	SH-FLAT SHEET			SQFT	\$26.000	34.300	\$891.80
	2660	9035069A	SHF-FLAT SHEET FLUORESCENT			SQFT	\$30.000	50	\$1,500.00
Project J9P	3764 - Tota	al							\$1,044,334.00
Overall - To	tal								\$1,126,519.00
Contract Adi	ustments	This Estimate	9						

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3751	0180	CONCRETE APPROACH PAVEMENT	Material			-574.20000	\$215.00	(\$123,453.00)
	0180	CONCRETE APPROACH PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user coolec1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	574.20000	\$215.00	\$123,453.00
	1120	BRIDGE APPROACH SLAB (MAJOR)	Material			-171	\$340.00	(\$58,140.00)
	1120	BRIDGE APPROACH SLAB (MAJOR)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user coolec1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	171	\$340.00	\$58,140.00
	1160	TYPE D BARRIER	Material			-235	\$150.00	(\$35,250.00)
	1160	TYPE D BARRIER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user coolec1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	235	\$150.00	\$35,250.00
	1230	BRIDGE APPROACH SLAB (MAJOR)	Material			-171	\$340.00	(\$58,140.00)
	1230	BRIDGE APPROACH SLAB (MAJOR)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user coolec1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	171	\$340.00	\$58,140.00
	1280	SLAB ON CONCRETE NU- GIRDER	Material			-398	\$600.00	(\$238,800.00)
	1280	SLAB ON CONCRETE NU- GIRDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user coolec1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	398	\$600.00	\$238,800.00
	1390	SLAB ON CONCRETE NU- GIRDER	Material			-300	\$625.00	(\$187,500.00)
	1390	SLAB ON CONCRETE NU- GIRDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user coolec1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	300	\$625.00	\$187,500.00
J9P3764	1640	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-1,707	\$10.00	(\$17,070.00)
	1640	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user coolec1	1,707	\$10.00	\$17,070.00

Revision 10/17/2025 Page 2 of 29



Pay Estimate Created Date: November 17, 2025

stimat	gress e Numl 20		240920-H02 H.R. Quadri Contr	actors, LLC	Pay Period End November 15, 2025 No	iginal Contract A it Change Order irrent Contract A	Amount	\$26,443,934.2 \$68,167.7 \$26,512,101.9
roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
P3764					overridding Payment Estimate Exception 1 on the current Payment Estimate.			
	1670	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)		Asphalt Cement Price Adjustment	AC Adjustment			\$76.36
	1670	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)			Reference Item Price Adjustment Index Adjustment Type applied is FUEL	21.23000	\$0.53	\$11.28
	1670	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)			Reference Item Price Adjustment Index Adjustment Type applied is FUEL	60.80000	\$0.53	\$32.30
	1700	CONCRETE PAVEMENT (IN. NON-REINF)	7 Material			-656.70000	\$75.00	(\$49,252.50
	1700	CONCRETE PAVEMENT (IN. NON-REINF)	7 Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user coolec1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	656.70000	\$75.00	\$49,252.50
	1700	CONCRETE PAVEMENT (IN. NON-REINF)	7 Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	314.50000	\$0.09	\$27.68
	2080	4 IN. WHITE STANDARD WATERBORNE PAVEMEN MARKING PAINT, TYPE P BEADS				-17,216	\$0.20	(\$3,443.20)
	2080	4 IN. WHITE STANDARD WATERBORNE PAVEMEN MARKING PAINT, TYPE P BEADS			This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user coolec1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	17,216	\$0.20	\$3,443.20
	2090	4 IN. YELLOW STANDARD WATERBORNE PAVEMEN MARKING PAINT, TYPE P BEADS	IT			-17,213	\$0.20	(\$3,442.60
	2090	4 IN. YELLOW STANDARD WATERBORNE PAVEMEN MARKING PAINT, TYPE P BEADS	IT		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user coolec1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	17,213	\$0.20	\$3,442.60
	2415	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Material			-15,875	\$51.00	(\$809,625.00)
	2415	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	15,875	\$51.00	\$809,625.00
	2415	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Other Item Adjustment	Asphalt Cement Price Adjustment	AC Adjustment			\$6,530.98
	2415	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	15,875	\$0.32	\$5,101.84
	2480	7 INCHES, BITUMINOUS PAVEMENT	Material			-27,563.70000	\$33.00	(\$909,602.10
	2480	7 INCHES, BITUMINOUS PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	27,563.70000	\$33.00	\$909,602.10
	2480	7 INCHES, BITUMINOUS PAVEMENT	Other Item Adjustment	Asphalt Cement Price	AC Adjustment			\$1,492.33

Revision 10/17/2025 Page 3 of 29



Pay Estimate Created Date: November 17, 2025

Estimat	gress e Num 20	Contract ID ber Prime Contractor	240920-H02 H.R. Quadri Contr	actors, LLC	Pay Period End November 15, 2025 Ne	iginal Contract A t Change Order A rrent Contract A	Amount	\$26,443,934.21 \$68,167.75 \$26,512,101.96
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3764				Adjustment				
	2480	7 INCHES, BITUMINOUS PAVEMENT	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	4,134.60000	\$0.20	\$845.58
	2600	2 IN. PSST POST - 12 GA	. Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$1,411.20)
	2610	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$459.90)
	2620	2.5 IN. PSST POST - 12 G	A. Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$738.56)
	2630	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$481.04)
	2640	SH-FLAT SHEET	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$339.57)
	2660	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$560.00)
Total								\$10,128.08

Revision 10/17/2025 Page 4 of 29



					Co	ontract Project Informat	ion			
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work			
J9P3751	FAF 67-1(28)	Upgrade to freeway, 3 bridges and 2 box culvert extensions	67	BUTLER	from 2.0 miles south o	f Poplar Bluff to 4.5 miles sou	uth of Poplar Bluff			
J9P3764	freeway									
Totals	by Job Num	bers								
J9P3751	Posted Ite	n Adjustments	s Gross Iter	m Pay	This Estimate \$82,185.00 \$0.00 \$82,185.00	Previous \$4,115,857.50 \$72,773.11 \$4,188,630.61	To Date \$4,198,042.50 \$72,773.11 \$4,270,815.61			
		ive d Damages ntract Adjustm	ents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			
J9P3764	Posted Ite Gross Iter	n Adjustments	s Gross Itel	m Pay	This Estimate \$1,044,334.00 \$10,128.08 \$1,054,462.08	Previous \$4,562,067.10 \$72,371.66 \$4,634,438.76	To Date \$5,606,401.10 \$82,499.74 \$5,688,900.84			
		ive d Damages ntract Adjustm	ents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			

Revision 5/29/2025 Page 5 of 29



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 3040506, Project Item Line Number 1640, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 4010107, Project Item Line Number 2480, Material Set 401010796, Material 0401BPPMBB - Plant Mix Bituminous Base, Acceptance Action Generic AspLow is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 4030404, Project Item Line Number 2415, Material Set 403040496, Material 0403SP125CLG - Superpave 12.5 mm, Des C Low Gyros, Acceptance Action Generic AspHigh is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 5021107, Project Item Line Number 1700, Material Set 502110796, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 5021107, Project Item Line Number 1700, Material Set 502110796, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	No Remark was entered by Engineer	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 5021107, Project Item Line Number 1700, Material Set 502110796, Material 1057JMDAEC4.11 - Dowel Assemblies Epoxy Ctd Gr40 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5031010A, Project Item Line Number 1120, Material Set 5031010A96, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5031010A, Project Item Line Number 1230, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5041000, Project Item Line Number 0180, Material Set 504100096, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5041000, Project Item Line Number 0180, Material Set 504100096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5041000, Project Item Line Number 0180, Material Set 504100096, Material 1057JMTBE28019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5041000, Project Item Line Number 0180, Material Set 504100096, Material 1005FACCNSCB - Natural Sand for Conc Class B, Acceptance Action Generic 1005FACCNSCB is insufficient.	No Remark was entered by Engineer	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 5041000, Project Item Line Number 0180, Material Set 504100096, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	No Remark was entered by Engineer	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 6206000C, Project Item Line Number 2080, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 6206000C, Project Item Line Number 2080, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 6206001C, Project Item Line Number 2090, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3764, Item 6206001C, Project Item Line Number 2090, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 7034219A, Project Item Line Number 1160, Material Set 7034219A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 7034221, Project Item Line Number 1280, Material Set 703422196, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Awaiting Testing Results	coolec1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3751, Item 7034221, Project Item Line Number 1390, Material Set 703422196, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Awaiting Testing Results	coolec1	Overridden

Revision 5/29/2025 Page 6 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

D No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POST To Date (See repo generated date)
920- J9P375	1 0001	0010	2013000	CLEARING AND GRUBBING	19.00	0.00	19.00	ACRE	18.50	\$10,000.00	\$185,000
	0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$100,000.00	\$0
	0001	0030	2027000	DISPOSAL AND PLUGGING OF WELLS	3.00	0.00	3.00	EA	2.00	\$1,000.00	\$2,000
	0001	0040	2031000	CLASS A EXCAVATION	53,884.00	0.00	53,884.00	CUYD	19,638.00	\$8.00	\$157,104
	0001	0050	2035500	EMBANKMENT IN PLACE	44,855.00	0.00	44,855.00	CUYD	10,970.00	\$10.00	\$109,700
	0001	0060	2036000	COMPACTING EMBANKMENT	43,591.00	0.00	43,591.00	CUYD	19,638.00	\$2.00	\$39,276
	0001	0070	2037075	COMPACTING IN CUT	5.40	0.00	5.40	STA	0.00	\$300.00	\$0
	0001	0080	2051010	MODIFIED SUBGRADE	108,524.00	0.00	108,524.00	SQYD	0.00	\$6.00	\$0
	0001	0090	2063000	CLASS 3 EXCAVATION	1,187.00	0.00	1,187.00	CUYD	525.00	\$15.00	\$7,875
	0001	0100	2063500	CULVERT CLEANOUT	7.00	0.00	7.00	EA	0.00	\$2,000.00	\$1
	0001	0110	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	4,358.00	0.00	4,358.00	SQYD	0.00	\$10.00	\$
	0001	0125	3049905	MISC.MODIFIED ROCK BASE	131,236.10	0.00	131,236.10	SQYD	0.00	\$20.00	\$1
	0001	0130	3105002	GRAVEL (A) OR CRUSHED STONE (B)	58.00	0.00	58.00	TONS	0.00	\$50.00	\$1
	0001	0140	4019905	MISC.TEMPORARY OPTIONAL PAVEMENT & BASE	1,022.00	0.00	1,022.00	SQYD	0.00	\$81.50	\$
	0001	0150	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	119.50	0.00	119.50	TONS	0.00	\$155.00	\$1
	0001	0160	4030308	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP250C MIX)	114.90	0.00	114.90	TONS	0.00	\$155.00	\$I
	0001	0170	4071005	TACK COAT	276.00	0.00	276.00	GAL	0.00	\$5.15	\$
	0001	0180	5041000	CONCRETE APPROACH PAVEMENT	574.20	0.00	574.20	SQYD	574.20	\$215.00	\$123,45
	0001							LF			\$123,43
	0001	0210	6071013A 6094010	CHAIN-LINK FENCE (72 IN.)	40.00	0.00	40.00		0.00	\$150.00	
	0001	0220		DRAIN BASIN	8.00	0.00	8.00	EA	0.00	\$4,000.00	\$
	0001	0230	6097000	ROCK LINING	113.00	0.00	113.00	CUYD	0.00	\$60.00	\$
	0001	0240	6113020	FURNISHING TYPE 2 ROCK BLANKET	2,193.00	0.00	2,193.00	CUYD	1,540.00	\$33.00	\$50,82
	0001	0250	6113040	PLACING TYPE 2 ROCK BLANKET	2,193.00	0.00	2,193.00	CUYD	1,540.00	\$18.00	\$27,72
		0260	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	0.00	\$3,535.00	\$
	0001	0270	6122020	REPLACEMENT SAND BARREL	6.00	0.00	6.00	EA	0.00	\$310.00	5
	0001	0280	6122030	IMPACT ATTENUATOR (RELOCATION)	4.00	0.00	4.00	EA	0.00	\$965.00	5
	0001	0290	6161005	CONSTRUCTION SIGNS	1,213.00	0.00	1,213.00	SQFT	158.00	\$8.00	\$1,26
	0001	0300	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	0.00	\$35.00	
	0001	0310	6161025	CHANNELIZER (TRIM-LINE)	200.00	0.00	200.00	EA	0.00	\$22.00	\$
	0001	0320	6161030	TYPE 3 MOVEABLE BARRICADE	20.00	0.00	20.00	EA	0.00	\$175.00	5
	0001	0330	6161033	DIRECTION INDICATOR BARRICADE	28.00	0.00	28.00	EA	0.00	\$125.00	\$
	0001	0340	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,000.00	5
	0001	0350	6161070	TUBULAR MARKER	20.00	0.00	20.00	EA	0.00	\$95.00	
	0001	0360	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	0.00	\$3,200.00	Ş
	0001	0370	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	18.00	0.00	18.00	EA	0.00	\$1,500.00	
	0001	0380	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	2,225.00	0.00	2,225.00	LF	0.00	\$56.32	:
	0001	0390	6175011B	RELOCATING TEMPORARY TRAFFIC BARRIER ANCHORED	1,176.00	0.00	1,176.00	LF	0.00	\$28.95	
	0001	0400	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$954,410.00	\$477,20
	0001	0410	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	5.00	0.00	5.00	EA	1.00	\$600.00	\$60
	0001	0420	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	57.00	0.00	57.00	LF	0.00	\$25.00	:
	0001	0430	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,008.00	0.00	3,008.00	LF	0.00	\$1.00	
	0001	0440	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	30,437.00	0.00	30,437.00	LF	0.00	\$0.35	:
	0001	0450	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	23,739.00	0.00	23,739.00	LF	0.00	\$0.35	
	0001	0460	6206000C 6206001C	PAINT, TYPE P BEADS	1,404.00	0.00	1,404.00	LF	0.00	\$1.00	
	0001	0470	6207001	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS PAVEMENT MARKING REMOVAL	1,360.00	0.00	1,360.00	LF LF	0.00	\$1.00 \$1.00	
	0001						-,				
	0001	0490	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	2.00	0.00	2.00	EA	0.00	\$100.00	
	0001	0500	6208064A	TEMPORARY RAISED PAVEMENT MARKER	40.00	0.00	40.00	EA	0.00	\$5.00	
		0510	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	20,047.00	0.00	20,047.00	LF	0.00	\$1.00	
	0001	0520	6209902	MISC.PREFORMED THERMOPLASTIC PAVEMENT MARKING, REDUCTION ARROW	2.00	0.00	2.00	EA	0.00	\$1,500.00	:
	0001	0530	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	555.00	0.00	555.00	SQYD	0.00	\$25.00	:

Revision 5/29/2025 Page 7 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	d on Report Generated date and can differ from the post Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240920-	J9P3751	0001	0550	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	3.70	0.00	3.70	STA	0.00	\$16.00	\$0.00
H02		0001	0560	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	2.40	0.00	2.40	STA	0.00	\$16.00	\$0.00
		0001	0570	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$110,000.00	\$0.00
		0001	0580	7250318A	18 IN. PIPE GROUP B	68.00	0.00	68.00	LF	64.00	\$50.00	\$3,200.00
		0001	0590	7261018	18 IN. PIPE GROUP A	1,012.00	0.00	1,012.00	LF	561.00	\$60.00	\$33,660.00
		0001	0600	7261024	24 IN. PIPE GROUP A	848.00	0.00	848.00	LF	756.00	\$80.00	\$60,480.00
		0001	0610	7261030	30 IN. PIPE GROUP A	123.00	0.00	123.00	LF	122.00	\$100.00	\$12,200.00
		0001	0620	7261036	36 IN. PIPE GROUP A	182.00	0.00	182.00	LF	182.00	\$125.00	\$22,750.00
		0001	0630	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	4.00	0.00	4.00	EA	0.00	\$500.00	\$0.00
		0001	0640	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	20.00	0.00	20.00	EA	0.00	\$1,000.00	\$0.00
		0001	0650	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	18.00	0.00	18.00	EA	0.00	\$1,250.00	\$0.00
		0001	0660	7320630A	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	4.00	0.00	4.00	EA	0.00	\$1,750.00	\$0.00
		0001	0670	7320636A	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$2,000.00	\$0.00
		0001	0680	8025006	MULCHING	53.10	0.00	53.10	ACRE	0.00	\$1,400.00	\$0.00
		0001	0690	8051000A	SEEDING - COOL SEASON GRASSES	30.40	0.00	30.40	ACRE	10.00	\$2,250.00	\$22,500.00
		0001	0700	8052000A	SEEDING - WARM SEASON GRASSES	22.70	0.00	22.70	ACRE	0.00	\$2,350.00	\$0.00
		0001	0710	8061003	SEDIMENT TRAP EXCAVATION	9.80	0.00	9.80	CUYD	0.00	\$20.00	\$0.00
		0001	0720	8061004	SEDIMENT TRAP ROCK	14.00	0.00	14.00	CUYD	0.00	\$85.00	\$0.00
		0001	0730	8061005	ROCK DITCH CHECK	1,801.00	0.00	1,801.00	LF	1,740.00	\$12.00	\$20,880.00
		0001	0740	8061006	ALTERNATE DITCH CHECK	1,526.00	0.00	1,526.00	LF	450.00	\$9.00	\$4,050.00
		0001	0750	8061016	SEDIMENT REMOVAL	328.00	0.00	328.00	CUYD	0.00	\$20.00	\$0.00
		0001	0760	8061017	TEMPORARY SEEDING	22.70	0.00	22.70	ACRE	22.70	\$1,050.00	\$23,835.00
		0001	0770	8061019	SILT FENCE	11,191.00	0.00	11,191.00	LF	0.00	\$2.60	\$0.00
		0001	0780	8064128	TYPE 1 TURF REINFORCEMENT MAT	432.00	0.00	432.00	SQYD	0.00	\$3.00	\$0.00
		0001	0790	8069902	MISC.DRAINING PONDS	1.00	0.00	1.00	EA	0.00	\$2,500.00	\$0.00
		0002	0795	4030404	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	77,725.80	0.00	77,725.80	SQYD	0.00	\$51.00	\$0.00
		0002	0810	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	472.30	0.00	472.30	STA	0.00	\$16.00	\$0.00
		0002	0820	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	3.80	0.00	3.80	STA	0.00	\$16.00	\$0.00
			0860	4010150	TYPE A2 SHOULDER	20,954.40	0.00	20,954.40	SQYD	0.00	\$31.50	\$0.00
		0006	0880	4010107	7 INCHES, BITUMINOUS PAVEMENT	1,915.90	0.00	1,915.90	SQYD	0.00	\$42.00	\$0.00
		0000	0890	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	10.40	0.00	10.40	STA	0.00	\$16.00	\$0.00
		0010	0920	6061040	GUARDRAIL TYPE D	88.00	0.00	88.00	LF	0.00	\$28.00	\$0.00
		0010	0930	6061060	MGS GUARDRAIL	1,763.00	0.00	1,763.00	LF	0.00	\$30.00	\$0.00
		0010	0940	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	225.00	0.00	225.00	LF	0.00	\$36.00	\$0.00
		0010	0950	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	5.00	0.00	5.00	EA	0.00	\$4,100.00	\$0.00
			0960	6061075	MGS LONG SPAN GUARDRAIL SECTION	2.00	0.00	2.00	EA	0.00	\$3,600.00	\$0.00
		0010	0970	6061080	MGS END ANCHOR	4.00	0.00	4.00	EA	0.00	\$2,100.00	\$0.00
		0040	0980	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7.00	0.00	7.00	EA	0.00	\$3,800.00	\$0.00
		0040	0990	9031010	CONCRETE FOOTINGS, EMBEDDED	0.90	0.00	0.90	CUYD	0.00	\$3,000.00	\$0.00
		0040	1000	9031210 9031241	STRUCTURAL STEEL POSTS BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	9.00	0.00	9.00	LB EA	0.00	\$6.50 \$400.00	\$0.00 \$0.00
		0040	1020	9031256	TUBE) 7 FT. CHANNEL POST DELINEATOR, WHITE	48.00	0.00	48.00	EA	0.00	\$48.00	\$0.00
		0040	1030	9031270A	2 IN. PSST POST - 12 GA.	416.00	0.00	416.00	LF	0.00	\$24.00	\$0.00
		0040			DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.				EA			
		0040	1040	9031271A 9031272A		24.00 5.00	0.00	24.00 5.00	EA	0.00	\$300.00 \$100.00	\$0.00 \$0.00
		0040	1060	9031272A 9031280	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA. 2.5 IN. PSST POST - 12 GA.	288.00	0.00	288.00	LF	0.00	\$100.00	\$0.00
		0040	1070	9031280 9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	16.00	0.00	16.00	EA	0.00	\$400.00	\$0.00
		0040	1070	9031281A 9035004A	SH-FLAT SHEET	76.00	0.00	76.00	SQFT	0.00	\$400.00	
		0040	1080	9035004A 9035011A	ST-STRUCTURAL	56.00	0.00		SQFT	0.00		\$0.00
		0040	1100	9035011A 9035069A	SHF-FLAT SHEET FLUORESCENT		0.00	56.00	SQFT	0.00	\$34.00	\$0.00
		0070				299.00		299.00	CUYD		\$30.00	\$0.00
		0070	1110	2061000 5031010A	CLASS 1 EXCAVATION BRIDGE ADDROACH SLAB (MA IOP)	75.00 171.00	0.00	75.00 171.00	SQYD	75.00 171.00	\$21.00	\$1,575.00 \$58.140.00
		0070	1120	7021212	BRIDGE APPROACH SLAB (MAJOR) GALVANIZED STRUCTURAL STEEL PILES (12 IN)	1,106.00	-21.00	1,085.00	LF	1,085.00	\$340.00 \$92.00	\$58,140.00 \$99,820.00
		0070	1140	7021212	PILE POINT REINFORCEMENT		0.00					
			1140	1021000	I ILL I OINT REINFORGEMENT	14.00	0.00	14.00	EA	14.00	\$225.00	\$3,150.00

Revision 5/29/2025 Page 8 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
J9P3751	0070	1150	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	62.10	0.00	62.10	CUYD	62.10	\$1,500.00	\$93,150
	0070	1160	7034219A	TYPE D BARRIER	235.00	0.00	235.00	LF	235.00	\$150.00	\$35,250
	0070	1170	7034221	SLAB ON CONCRETE NU-GIRDER	398.00	0.00	398.00	SQYD	398.00	\$600.00	\$238,800
	0070	1180	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	335.00	0.00	335.00	LF	335.00	\$375.00	\$125,625
	0070	1190	7123610	SLAB DRAIN	14.00	0.00	14.00	EA	14.00	\$700.00	\$9,800
	0070	1200	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$3,600.00	\$7,200
	0070	1210	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$350.00	\$2,800
	0071	1220	2061000	CLASS 1 EXCAVATION	95.00	0.00	95.00	CUYD	95.00	\$21.00	\$1,995
	0071	1230	5031010A	BRIDGE APPROACH SLAB (MAJOR)	171.00	0.00	171.00	SQYD	171.00	\$340.00	\$58,140
	0071	1240	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	1,120.00	-39.00	1,081.00	LF	1,081.00	\$92.00	\$99,452
	0071	1250	7027000	PILE POINT REINFORCEMENT	14.00	0.00	14.00	EA	14.00	\$225.00	\$3,150
	0071	1260	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	63.80	0.00	63.80	CUYD	63.80	\$1,500.00	\$95,700
	0071	1270	7034219A	TYPE D BARRIER	235.00	0.00	235.00	LF	0.00	\$150.00	\$0
	0071	1280	7034221	SLAB ON CONCRETE NU-GIRDER	398.00	0.00	398.00	SQYD	398.00	\$600.00	\$238,800
	0071	1290	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	335.00	0.00	335.00	LF	335.00	\$375.00	\$125,625
	0071	1300	7123610	SLAB DRAIN	14.00	0.00	14.00	EA	14.00	\$700.00	\$9,800
	0071	1310	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$3,600.00	\$7,200
	0071	1320	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$350.00	\$2,800
	0072	1330	2061000	CLASS 1 EXCAVATION	160.00	0.00	160.00	CUYD	160.00	\$21.00	\$3,360
	0072	1340	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	127.00	0.00	127.00	SQYD	0.00	\$340.00	\$0
	0072	1350	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	960.00	-31.00	929.00	LF	929.00	\$92.00	\$85,468
	0072	1360	7027000	PILE POINT REINFORCEMENT	12.00	0.00	12.00	EA	12.00	\$225.00	\$2,700
	0072	1370	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	48.80	0.00	48.80	CUYD	48.80	\$1,500.00	\$73,200
	0072	1380	7034219A	TYPE D BARRIER	235.00	0.00	235.00	LF	235.00	\$150.00	\$35,250
	0072	1390	7034221	SLAB ON CONCRETE NU-GIRDER	300.00	0.00	300.00	SQYD	300.00	\$625.00	\$187,500
	0072	1400	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	335.00	0.00	335.00	LF	335.00	\$375.00	\$125,625
	0072	1410	7123610	SLAB DRAIN	14.00	0.00	14.00	EA	14.00	\$700.00	\$9,800
	0072	1420	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000
	0072	1430	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$350.00	\$2,800
	0073	1440	2063300	CLASS 4 EXCAVATION	295.00	0.00	295.00	CUYD	295.00	\$20.00	\$5,900
	0073	1450	2069901	MISC.Dewatering	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000
	0073	1460	2163501	PARTIAL REMOVAL OF CULVERT-BRIDGE CONCRETE	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000
	0073	1470	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	353.50	0.00	353.50	CUYD	353.50	\$1,000.00	\$353,500
	0073	1480	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	69,340.00	0.00	69,340.00	LB	69,340.00	\$1.25	\$86,675
	0074	1490	2063300	CLASS 4 EXCAVATION	285.00	0.00	285.00	CUYD	285.00	\$20.00	\$5,700
	0074	1500	2069901	MISC.Dewatering	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000
	0074	1510	2163501	PARTIAL REMOVAL OF CULVERT-BRIDGE CONCRETE	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000
	0074	1520	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	367.30	0.00	367.30	CUYD	367.30	\$1,000.00	\$367,300
	0074	1530	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	72,170.00	0.00	72,170.00	LB	72,170.00	\$1,000.00	\$90,212
	0001	5001	8061050	TYPE C BERM	0.00	855.00	855.00	LF	0.00	\$26.25	\$90,212
	0001	5001	2064000	POROUS BACKFILL	0.00	394.00	394.00	CUYD	197.00	\$84.00	\$16,548
Project	19D3751 - Ta			Date as of Report Generated Date	0.00	394.00	394.00	COTD	197.00	\$64.00	\$4,198,042
J9P3764	0004	1540	2013000	CLEARING AND GRUBBING	9.00	0.00	9.00	ACRE	8.50	\$10,000.00	\$4,196,042
J9P3764	0001			REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS			
	0001	1550 1560	2022010	CLASS A EXCAVATION	123.770.00	0.00		CUYD		\$102,800.00	\$700.440
	0001						123,770.00		87,555.00	\$8.00	\$700,440
	0001	1570	2035500	EMBANKMENT IN PLACE	2,244.00	0.00	2,244.00	CUYD	1,290.00	\$10.00	\$12,900
	0001	1580	2036000	COMPACTING EMBANKMENT	87,806.00	0.00	87,806.00	CUYD	86,963.00	\$2.00	\$173,926
	0001	1590	2037075	COMPACTING IN CUT	35.70	0.00	35.70	STA	19.10	\$300.00	\$5,730
	0001	1600	2051010	MODIFIED SUBGRADE	113,286.00	0.00	113,286.00	SQYD	88,431.00	\$6.00	\$530,586
	0001	1610	2063000	CLASS 3 EXCAVATION	2,912.00	0.00	2,912.00	CUYD	2,604.00	\$15.00	\$39,060
	0001	1620	2063500	CULVERT CLEANOUT	6.00	0.00	6.00	EA	0.00	\$2,000.00	\$0
	0001	1630	2072000	LINEAR GRADING CLASS 2	12.00	0.00	12.00	STA	0.00	\$1,000.00	\$0
		1640	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	64,958.00	0.00	64,958.00	SQYD	30,876.00	\$10.00	\$308,760
	0001	1655	3049905	MISC.MODIFIED ROCK BASE	84,698.50	0.00	84,698.50	SQYD	59,568.00	\$20.00	\$1,191,360
	0001	1660	3105002	GRAVEL (A) OR CRUSHED STONE (B)	172.00	0.00	172.00	TONS	0.00	\$50.00	\$0
	0001	1670	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	245.10	0.00	245.10	TONS	204.77	\$170.00	\$34,810
	0001	1680	4019905	MISC.TEMPORARY OPTIONAL PAVEMENT AND BASE	2,169.00	0.00	2,169.00	SQYD	0.00	\$63.00	\$0
	0001										

Revision 5/29/2025 Page 9 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0920-	J9P3764	0001	1700	5021107	CONCRETE PAVEMENT (7 IN. NON-REINF)	984.90	0.00	984.90	SQYD	656.70	\$75.00	\$49,252.50
02		0001	1710	6044011	PIPE COLLAR, TYPE A	5.00	0.00	5.00	EA	0.00	\$1,000.00	\$0.00
		0001	1740	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	325.00	0.00	325.00	CUYD	0.00	\$10.00	\$0.0
		0001	1750	6096030A	FURNISHING TYPE 3 ROCK DITCH LINER	431.00	0.00	431.00	CUYD	431.00	\$10.00	\$4,310.0
		0001	1760	6096042	PLACING TYPE 2 ROCK DITCH LINER	325.00	0.00	325.00	CUYD	0.00	\$50.00	\$0.0
		0001	1770	6096043	PLACING TYPE 3 ROCK DITCH LINER	431.00	0.00	431.00	CUYD	431.00	\$50.00	\$21,550.0
		0001	1780	6096050	BEDDING MATERIAL FOR ROCK DITCH LINER	143.00	0.00	143.00	CUYD	143.00	\$60.00	\$8,580.0
		0001	1790	6097000	ROCK LINING	149.00	0.00	149.00	CUYD	0.00	\$60.00	\$0.0
		0001	1800	6113010	FURNISHING TYPE 1 ROCK BLANKET	857.00	0.00	857.00	CUYD	130.00	\$10.00	\$1,300.0
		0001	1810	6113030	PLACING TYPE 1 ROCK BLANKET	857.00	0.00	857.00	CUYD	130.00	\$50.00	\$6,500.0
		0001	1820	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	4.00	0.00	4.00	EA	0.00		
		0001									\$3,535.00	\$0.0
		0001	1830	6122020	REPLACEMENT SAND BARREL	10.00	0.00	10.00	EA	0.00	\$310.00	\$0.0
		0001	1840	6122030	IMPACT ATTENUATOR (RELOCATION)	6.00	0.00	6.00	EA	0.00	\$965.00	\$0.0
			1850	6122040	WORK ZONE CRASH CUSHION (NARROW)	1.00	0.00	1.00	EA	0.00	\$6,280.00	\$0.0
		0001	1860	6141022	GRATE AND BEARING PLATE (3 FT. X 3 FT. OR 914 MM X 914 MM)	13.00	0.00	13.00	EA	11.00	\$1,800.00	\$19,800.0
			1870	6141120	CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X 600MM)	15.00	0.00	15.00	EA	0.00	\$1,000.00	\$0.0
		0001	1880	6161005	CONSTRUCTION SIGNS	1,940.00	0.00	1,940.00	SQFT	340.50	\$8.00	\$2,724.0
			1890	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	0.00	\$35.00	\$0.0
		0001	1900	6161025	CHANNELIZER (TRIM-LINE)	300.00	0.00	300.00	EA	0.00	\$22.00	\$0.0
		0001	1910	6161030	TYPE 3 MOVEABLE BARRICADE	30.00	0.00	30.00	EA	10.00	\$175.00	\$1,750.0
		0001	1920	6161033	DIRECTION INDICATOR BARRICADE	28.00	0.00	28.00	EA	0.00	\$125.00	\$0.0
		0001	1930	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.0
		0001	1940	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	6.00	0.00	6.00	EA	2.00	\$3,200.00	\$6,400.0
		0001	1950	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	18.00	0.00	18.00	EA	0.00	\$1,500.00	\$0.0
		0001	1960	6173000	CONCRETE TRAFFIC BARRIER, TYPE C	3,863.00	0.00	3,863.00	LF	0.00	\$109.00	\$0.0
		0001	1970	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	463.00	0.00	463.00	LF	0.00	\$46.55	\$0.0
		0001	1980	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	4,088.00	0.00	4,088.00	LF	0.00	\$53.32	\$0.0
		0001	1990	6173706	TEMPORARY TRAFFIC BARRIER STIFFNESS TRANSITION SECTION, CONTRACTOR FURNISHED / RETAINED	325.00	0.00	325.00	LF	0.00	\$53.32	\$0.0
		0001	2000	6174000A	TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	0.00	\$1,165.00	\$0.0
		0001	2010	6175011B	RELOCATING TEMPORARY TRAFFIC BARRIER ANCHORED	113.00	0.00	113.00	LF	0.00	\$28.95	\$0.0
		0001	2020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$640,500.00	\$320,250.0
		0001	2030	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	5.00	0.00	5.00	EA	1.00	\$600.00	\$600.0
		0001	2040	6191000	PAVEMENT EDGE TREATMENT	480.00	0.00	480.00	LF	0.00	\$5.00	\$0.0
		0001	2050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	26,778.00	0.00	26,778.00	LF	0.00	\$0.30	\$0.0
		0001	2060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	16,345.00	0.00	16,345.00	LF	0.00	\$0.30	\$0.0
		0001	2070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	687.00	0.00	687.00	LF	0.00	\$1.00	\$0.0
		0001	2080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	20,418.00	0.00	20,418.00	LF	17,216.00	\$0.20	\$3,443.2
		0001	2090		4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	20,414.00	0.00	20,414.00	LF	17,213.00	\$0.20	\$3,442.6
			2100	6207001	PAVEMENT MARKING REMOVAL	24,267.00	0.00	24,267.00	LF	0.00	\$1.00	\$0.0
		0001	2110	6208064A	TEMPORARY RAISED PAVEMENT MARKER	133.00	0.00	133.00	EA	0.00	\$5.00	\$0.0
		0001	2120	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	16,192.00	0.00	16,192.00	LF	0.00	\$1.00	\$0.0
		0001	2130	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	481.00	0.00	481.00	SQYD	481.00	\$28.00	\$13,468.0
		0001	2140	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,367.00	0.00	1,367.00	SQYD	888.00	\$3.00	\$2,664.0
		0001	2150	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1.00	0.00	1.00	STA	0.00	\$16.00	\$0.0
		0001	2160	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$110,000.00	\$0.0
		0001	2170	7250318A	18 IN. PIPE GROUP B	934.00	0.00	934.00	LF	252.00	\$50.00	\$12,600.
		0001	2180	7261012	12 IN. PIPE GROUP A	856.00	0.00	856.00	LF	221.00	\$40.00	\$8,840.
		0001	2190	7261018	18 IN. PIPE GROUP A	398.00	0.00	398.00	LF	398.00	\$60.00	\$23,880.0
		0001	2200	7261024	24 IN. PIPE GROUP A	1,487.00	0.00	1,487.00	LF	1,315.00	\$80.00	\$105,200.0
		0001 2210 7261036 36 IN. PIPE GROUP A					0.00	97.00	LF	0.00	\$100.00	\$0.0
						97.00	3.00	07.00		0.50	÷ 100.00	ψ0.

Revision 5/29/2025 Page 10 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

act Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
20- J9P376	4 0001	2230	7311033	PRECAST CONCRETE DROP INLET 3 FT X 3 FT	71.00	0.00	71.00	FT	61.00	\$800.00	\$48,800.
	0001	2240	7319903	MISC.SPECIAL INLET NO. 1	8.00	0.00	8.00	LF	0.00	\$1,000.00	\$0.
	0001	2250	7319903	MISC.SPECIAL INLET NO. 2	14.00	0.00	14.00	LF	0.00	\$1,000.00	\$0.
	0001	2260	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	40.00	0.00	40.00	EA	0.00	\$500.00	\$0.
	0001	2270	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	1.00	\$1,000.00	\$1,000.
	0001	2280	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	40.00	0.00	40.00	EA	4.00	\$1,250.00	\$5,000.
	0001	2290	7320636A	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$2,000.00	\$0.
	0001	2300	8025006	MULCHING	34.30	0.00	34.30	ACRE	0.00	\$1,400.00	\$0.
	0001	2310	8051000A	SEEDING - COOL SEASON GRASSES	30.70	0.00	30.70	ACRE	20.00	\$2,250.00	\$45,000.
	0001	2320	8052000A	SEEDING - WARM SEASON GRASSES	3.60	0.00	3.60	ACRE	0.00	\$2,350.00	\$0.
	0001	2330	8061003	SEDIMENT TRAP EXCAVATION	50.00	0.00	50.00	CUYD	0.00	\$20.00	\$0
	0001	2340	8061004	SEDIMENT TRAP ROCK	50.00	0.00	50.00	CUYD	0.00	\$85.00	\$0.
	0001	2350	8061005	ROCK DITCH CHECK	3,542.00	0.00	3,542.00	LF	2,852.00	\$12.00	\$34,224
	0001	2360	8061006	ALTERNATE DITCH CHECK	1,708.00	0.00	1,708.00	LF	0.00	\$9.00	\$0
	0001	2370	8061007A	CURB INLET CHECK	17.00	0.00	17.00	EA	0.00	\$170.00	\$0
	0001	2380	8061016	SEDIMENT REMOVAL	447.00	0.00	447.00	CUYD	52.00	\$20.00	\$1,040
	0001	2390	8061017	TEMPORARY SEEDING	3.60	0.00	3.60	ACRE	3.60	\$1,050.00	\$3,780
	0001	2400	8061019	SILT FENCE	6,399.00	0.00	6,399.00	LF	4,205.00	\$2.60	\$10,933
	0001	2410	8069902	MISC.DRAINING PONDS	3.00	0.00	3.00	EA	2.00	\$2,500.00	\$5,000
	0002	2415	4030404	11 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	56,832.20	0.00	56,832.20	SQYD	15,875.00	\$51.00	\$809,625
	0002	2430	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	334.90	0.00	334.90	STA	0.00	\$16.00	\$0
	0004	2460	4010150	TYPE A2 SHOULDER	15,066.90	0.00	15,066.90	SQYD	0.00	\$31.50	\$0
	0006	2480	4010107	7 INCHES, BITUMINOUS PAVEMENT	32,210.80	0.00	32,210.80	SQYD	27,563.70	\$33.00	\$909,602
	0006	2490	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	144.90	0.00	144.90	STA	0.00	\$16.00	\$0
	0010	2520	6061060	MGS GUARDRAIL	475.00	0.00	475.00	LF	0.00	\$30.00	\$0
	0010	2530	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	1.00	0.00	1.00	EA	0.00	\$4,000.00	\$0
	0010	2540	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	0.00	\$2,100.00	\$0
	0010	2550	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$3,800.00	\$0
	0010	2560	6063017	TYPE C CRASHWORTHY END TERMINAL	1.00	0.00	1.00	EA	0.00	\$24,000.00	\$0
	0040	2570	9031010	CONCRETE FOOTINGS, EMBEDDED	6.10	0.00	6.10	CUYD	0.00	\$3,000.00	\$0
	0040	2580	9031210	STRUCTURAL STEEL POSTS	3,180.00	0.00	3,180.00	LB	0.00	\$6.50	\$0
	0040	2590	9031256	7 FT. CHANNEL POST DELINEATOR, WHITE	40.00	0.00	40.00	EA	0.00	\$48.00	\$0
	0040	2600	9031270A	2 IN. PSST POST - 12 GA.	272.00	0.00	272.00	LF	144.00	\$24.00	\$3,456
	0040	2610	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	17.00	0.00	17.00	EA	9.00	\$300.00	\$2,700
	0040	2620	9031280	2.5 IN. PSST POST - 12 GA.	160.00	0.00	160.00	LF	64.00	\$28.00	\$1,79
	0040	2630	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	10.00	0.00	10.00	EA	4.00	\$400.00	\$1,600
	0040	2640	9035004A	SH-FLAT SHEET	110.00	0.00	110.00	SQFT	34.30	\$26.00	\$89
	0040	2650	9035011A	ST-STRUCTURAL	630.00	0.00	630.00	SQFT	0.00	\$34.00	\$0
	0040	2660	9035069A	SHF-FLAT SHEET FLUORESCENT	84.00	0.00	84.00	SQFT	50.00	\$30.00	\$1,500
	0040	2670	9035071A	STF-STRUCTURAL FLUORESCENT	18.00	0.00	18.00	SQFT	0.00	\$38.00	\$1
	0001	5101	1099901	MISC.Tire Removal	0.00	1.00	1.00	LS	1.00	\$21,000.00	\$21,000
Project	.J9P3764 - T			Date as of Report Generated Date	3.30					+=.,500.00	\$5,606,401
				of Report Generated Date							\$9,804,443

Revision 5/29/2025 Page 11 of 29



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3751

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0410	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	11/14/25	11/17/25	1	1.00	EA		622 +65.01		754 +86.03		
0690	8051000A	SEEDING - COOL SEASON GRASSES	11/14/25	11/17/25	1	10.00	ACRE	Outer Ditches	622 +65.01		754 +86.03		
0760	8061017	TEMPORARY SEEDING	11/14/25	11/17/25	1	22.70	ACRE		622 +65.01		754 +86.03		
1160	7034219A	TYPE D BARRIER	11/3/25	11/17/25	1	235.00	LF	Both Barriers	757+74.03		759+23.61		

Project: J9P3764

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1600	2051010	MODIFIED SUBGRADE	11/10/25	11/17/25	1	250.00	SQYD	Northbound lane	660+00		661+00		
1655	3049905	MISC. AGGREGATE FOR BASE	11/10/25	11/17/25	- 1	250.00	SQYD	Northbound Lane	660+00		661+00		
1670	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	11/3/25	11/17/25	- 1	21.23	TONS	West Outer Road North Tie in, Northbound Lane	21+00		20+00		
			11/14/25	11/17/25	- 1	60.80	TONS	Various Locations	21+00		107+64.11		
1700	5021107	CONCRETE PAVEMENT (7 IN. NON-REINF)	11/10/25	11/17/25	1	314.50	SQYD	West Outer Road	33+85		33+85		
1800	6113010	FURNISHING TYPE 1 ROCK BLANKET	11/4/25	11/17/25	1	112.00	CUYD	West Outer Road	21+00		25+21		
				11/17/25	2	18.00	CUYD	West Outer Road F190 Outlet	92+80		93+50		
1810	6113030	PLACING TYPE 1 ROCK BLANKET	11/4/25	11/17/25	1	112.00	CUYD	West Outer Road	21+00		25+21		
				11/17/25	2	18.00	CUYD	West Outer Road F190 Outlet	92+80		93+50		
2030	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	11/14/25	11/17/25	1	1.00	EA		573+60.27		622+65.01		
2080	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	11/13/25	11/17/25	- 1	17,216.00	LF	West Outer Road	21+00		107+64.11		
2090	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	11/13/25	11/17/25	- 1	17,213.00	LF	West Outer Road	21+00		107+64.11		
2140	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	11/4/25	11/17/25	- 1	209.00	SQYD	West Outer Road	21+00		25+21		
				11/17/25	2	34.00	SQYD	West Outer Road F190 Outlet	92+80		93+50		
2310	8051000A	SEEDING - COOL SEASON GRASSES	11/14/25	11/17/25	1	10.00	ACRE		573+60.27		622+65.01		
2390	8061017	TEMPORARY SEEDING	11/14/25	11/17/25	1	3.60	ACRE		573+60.27		622+65.01		
2415	4030404	11 IN, ASPH CONC PAVE SP125C	11/13/25	11/17/25	1	15,875.00	SQYD	Partial Payment of Plan Quantity	577÷00		660+75		
2480	4010107	7 INCHES, BITUMINOUS PAVEMENT	11/3/25	11/17/25	1	4,134.60	SQYD	Remaining 15% of 27563.7 for West Outer Road	106+50	21+00			
2600	9031270A	2 IN. PSST POST - 12 GA.	11/12/25	11/17/25	1	144.00	LF	Signs 9, 10, 11, 16, 17, and 18	54+91		100+00		
2610	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	11/12/25	11/17/25	1	9.00	EA	Signs 9, 10, 11, 16, 17, and 18	54+91		100+00		
2620	9031280	2.5 IN. PSST POST - 12 GA.	11/12/25	11/17/25	1	64.00	LF	Signs 14, 15, 19, and 20	54+91		100+00		
2630	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	11/12/25	11/17/25	1	4.00	EA	Signs 14, 15, 19, and 20	54+91		100+00		
2640	9035004A	SH-FLAT SHEET	11/12/25	11/17/25	1	34.30	SQFT	Signs 10, 11, 19, and 20	54+91		100+00		
2660	9035069A	SHF-FLAT SHEET FLUORESCENT	11/12/25	11/17/25	1	50.00	SQFT	Signs 9, 14, 15, 17, and 18	54+91		100+00		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 12 of 29



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
J9P3751	0040	CLASS A EXCAVATION	Price FUEL		15	Sep 2, 2025	SYSTEM	\$451.73	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
					16	Sep 16, 2025	SYSTEM	\$48.83	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
					17	Oct 1, 2025	SYSTEM	\$10.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
					18	Oct 16, 2025	SYSTEM	\$41.95	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
					19	Nov 3, 2025	SYSTEM	\$6.84	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
				- Total				\$560.25								
			Price FUEL - 1	otal				\$560.25								
	0040 -	Total						\$560.25								
	0050	EMBANKMENT IN PLACE	Material		17	Oct 1, 2025	SYSTEM	(\$5,000.00)								
					17	Oct 1, 2025	SYSTEM	\$5,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
					18	Oct 16, 2025	SYSTEM	(\$109,700.00)								
					18	Oct 16, 2025	SYSTEM	\$109,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
					19	Nov 3, 2025	SYSTEM	(\$109,700.00)								
					19	Nov 3, 2025	SYSTEM	\$109,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
				- Total				\$0.00								
			Material - Tota					\$0.00								
			Price FUEL		17	Oct 1, 2025	SYSTEM	\$19.08	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
					18	Oct 16, 2025	SYSTEM	\$208.87	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
				- Total				\$227.95								
			Price FUEL - 1	otal				\$227.95								
	0050 -	Total						\$227.95								
	0060	COMPACTING EMBANKMENT	Material		15	Sep 2, 2025	SYSTEM	(\$25,236.00)								
					15	Sep 2, 2025	SYSTEM	\$25,236.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
					16	Sep 16, 2025	SYSTEM	(\$29,716.00)								
				16	16	16	16		16	16	16	16	Sep 16, 2025	SYSTEM	\$29,716.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					17	Oct 1, 2025	SYSTEM	(\$30,716.00)								
				17	17		SYSTEM	\$30,716.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.							
				- Total				\$0.00								
			Material - Tota	ıl				\$0.00								
	0060 -	Total						\$0.00								
	0180	CONCRETE APPROACH	Material		19	Nov 3, 2025	SYSTEM	(\$123,453.00)								
		PAVEMENT			19	Nov 3, 2025	SYSTEM	\$123,453.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coolec1 overridding Payment Estimate Exception 14 on the current Payment Estimate.							
					20	Nov 17, 2025	SYSTEM	(\$123,453.00)								
					20	Nov 17,	SYSTEM	\$123,453.00	This adjustment offsets the original system-generated Material Payment							



CONCRETE APPROACH PAVEMENT Total O180 - Total O580 18 IN. PIPE CULVERT GROUP B O580 18 IN. PIPE CULVERT GROUP B O180 - Total O580 17 Oct 1, SYSTEM S3,200.00 SYSTEM S3,200.00 This adjustment offsets the original system-generated Material Payment	ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Material Total	751	0180	APPROACH	Material	3.		2025			Estimate Item Adjustment (0001) due to user coolec1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
100 Total 100 10			PAVEMENT		- Total				\$0.00	
Section Section Section Section Section STM Total Section Section STM STM Section Section STM Section Section STM Section Section State Section Section Section State Section Section State Section Section State Section Section State Section Section Section Section State Section Se				Material - Tota	d				\$0.00	
CLUCRET GROUP		0180 -	Total						\$0.00	
17		0580	CULVERT GROUP	Material		17		SYSTEM	(\$3,200.00)	
Material - Total			Б			17		SYSTEM	\$3,200.00	Estimate Item Adjustment (0005) due to user coolec1 overridding Payment
Secondary Seco					- Total				\$0.00	
Dec 2				Material - Tota	ıl				\$0.00	
D Slockpile STM -Total ST40.25		0580 -	Total						\$0.00	
Construction Stockpile STMI - Total		0920		Stockpile		2		SYSTEM	\$740.25	Payment Estimate Item Adjustment generated Stockpile Transaction
1000 Total 1000 Total 2 Dec 2 2024 SYSTEM S22716.05 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI Total S22718.63 S22718.6				STIVII	- Total				\$740.25	
MGS GUARDRAIL Construction Stockpile Total S22,718.63 Payment Estimate Item Adjustment generated Stockpile Transaction S22,718.63 S2				Construction	Stockpile STI	VII - Total			\$740.25	
Stockpile STMI		0920 -	Total						\$740.25	
Construction Stockpile STMI - Total \$22,718.63		0930	MGS GUARDRAIL	Stockpile		2		SYSTEM	\$22,718.63	Payment Estimate Item Adjustment generated Stockpile Transaction
Ossocial				STIVII	- Total				\$22,718.63	
MSS GLIARDRAIL, 8 PT. POSTS, 6 FT. Stockpile STMI - Total S.3,389.25 Construction Stockpile STMI - Total S.3,389.25				Construction	Stockpile STI	MI - Total			\$22,718.63	
8 FT. POSTS, 6 FT 3 IN - Total - To		0930 -	Total						\$22,718.63	
Total \$3,39.25		0940	8 FT. POSTS, 6 FT.	Stockpile		2		SYSTEM	\$3,359.25	Payment Estimate Item Adjustment generated Stockpile Transaction
0940 - Total			0		- Total				\$3,359.25	
Dec 2 Dec				Construction	Stockpile STI	MI - Total			\$3,359.25	
APP. TRANS SEC (EXT CURB) STMI -Total \$10,925.00		0940 -	Total						\$3,359.25	
Construction Stockpile STMI Total S10,925.00		0950	APP. TRANS SEC	Stockpile		2		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
1000 Total				0 1 1						
TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile Transaction Stockpile STMI - Total S12,950.00 Payment Estimate Item Adjustment generated Stockpile Transaction S12,950.00		0050	T-4-1	Construction	n Stockpile STMI - Total					
CRASHMORTHY (MASH) Total Construction Stockpile STMI - Total S12,950.00 STRUCTURAL STEEL POSTS STMI - Total Construction Stockpile STMI - Total S12,950.00 STRUCTURAL STEEL POSTS STMI - Total Construction Stockpile STMI - Total S1,921.50 Construction Stockpile STMI - Total S1,921.50 Construction Stockpile STMI - Total S1,921.50 TOTAL TOTAL S1,921.50 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S2,457.00 TOTAL TOTAL TOTAL S2,457.00 TOTAL TOTAL CONSTRUCTURAL STEEL POSTS STMI - Total S2,457.00 TOTAL TOTAL S2,457.00 TOTAL TOTAL CONSTRUCTION STOCKPILE STMI - Total S2,457.00 TOTAL S2,457.00 TOTAL TOTAL S2,457.00 TOTAL TOTAL S2,457.00 T							-	21/2==1/		
Construction Stockpile STMI - Total \$12,950.00		0980	CRASHWORTHY END TERMINAL	Stockpile	Total	2		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
1000 STRUCTURAL STEEL POSTS Construction Stockpile STM -Total S1,921.50			(MASH)	Construction		MI Total				
1000 STRUCTURAL STEEL POSTS STEEL POSTS Construction Stockpile STMI Total Construction Stockpile STMI - Total S1,921.50 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S1,921.50 1000 - Total S2,457.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S2,457.00 1010 - Total 1020 - Total 1020 - Total 1020 - Total 1030 2 IN. PSST POST - 12 GA. STMI TOTAL S2,457.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S2,457.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile Transaction Stockpile STMI - Total		0000	Total	Construction	Stockpile 311	vii - Totai				
Total \$1,921.50			STRUCTURAL			7		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile STMI - Total \$1,921.50					- Total				\$1, <u>921.50</u>	
1010 BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE) TOtal 1020 7 FT. CHAN. POST DELINE., WHITE Total Construction Stockpile STMI Total Total Total Total Total Total SYSTEM S2,457.00 SYSTEM S2,457.00 SYSTEM S2,457.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S2,457.00 Payment Estimate Item Adjustment generated Stockpile Transaction System Sys				Construction	l Stockpile STI	MI - Total				
1010 BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE) - Total Construction Stockpile STMI - Total TOTAL Construction Stockpile STMI - Total S2,457.00 S2,457.00 S2,457.00 1010 - Total 1020 7 FT. CHAN. POST DELINE., WHITE Construction Stockpile STMI - Total - Total SYSTEM S2,457.00 S2,457.00 S2,457.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total SYSTEM S948.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S948.00 1020 - Total SYSTEM S948.00 1020 - Total S948.00 1030 2 IN. PSST POST - 12 GA. STMI		1000 -	Total							
SQUARE STEEL TUBE) Construction Stockpile STMI - Total \$2,457.00 1010 - Total \$2,457.00 1020			BREAKAWAY ASSEMBLY	Stockpile		4		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
TUBE) Construction Stockpile STMI - Total \$2,457.00 1010 - Total 7 FT. CHAN. POST DELINE., WHITE STMI - Total Construction Stockpile STMI - Total Construction Stockpile STMI - Total \$948.00 1020 - Total \$948.00 1030 2 IN. PSST POST - 12 GA. SYSTEM SYSTEM SP48.00 4 Dec 31, SYSTEM SP48.00 4 Dec 31, SYSTEM SP48.00 4 Dec 31, SYSTEM SP48.00 4 Payment Estimate Item Adjustment generated Stockpile Transaction SP48.00 Payment Estimate Item Adjustment generated Stockpile Transaction SP48.00 Payment Estimate Item Adjustment generated Stockpile Transaction STOCKpile STMI - Total SP48.00				STMI	- Total				\$2, <u>4</u> 57.0 <u>0</u>	
1010 - Total 1020 7 FT. CHAN. POST DELINE., WHITE STMI - Total 1020 - Total 1020 - Total 1030 2 IN. PSST POST - 12 GA. STMI - Total 1030 2 IN. PSST POST - 12 GA. STMI - Total Stockpile STMI - Total Sto				Construction		MI - Total			\$2,457.00	
1020 7 FT. CHAN. POST DELINE., WHITE Stockpile STMI 4 Dec 31, 2024 \$948.00 Payment Estimate Item Adjustment generated Stockpile Transaction \$948.00 Payment Estimate Item Adjustment generated Stockpile \$948.00 Payment Estimate Item Adjustment generated Stockpile \$948.00 Payment Estimate Item Adjustment generated Stockpile \$948.00 Payment Estimate Item Adjustment generated \$948.00 Payment Estimate Item Adjustment generated Stockpile \$948.00 Payment Estimate Ite		1010 -	Total							
Construction Stockpile STMI - Total \$948.00 1020 - Total \$948.00 1030 2 IN. PSST POST - Construction Stockpile STMI - Dec 31, 12 GA. SYSTEM \$4,076.80 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI			7 FT. CHAN. POST	Stockpile		4		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
1020 - Total 1030 2 IN. PSST POST - Construction Stockpile STMI SYSTEM \$4,076.80 Payment Estimate Item Adjustment generated Stockpile Transaction \$50.80 Payment Estimate Item Adjustment generated Stockpile \$50.80 Payment Stockpile				21MI	- Total				\$948.00	
1030 2 IN. PSST POST - Construction Stockpile STMI				Construction	Stockpile STI	VII - Total			\$948.00	
12 GA. Stockpile 2024		1020 -	Total						\$948.00	
- Total \$4,076.80		1030		Stockpile		4		SYSTEM	\$4,076.80	Payment Estimate Item Adjustment generated Stockpile Transaction
				SIMI	- Total				\$4,076.80	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
I9P3751	1030	2 IN. PSST POST - 12 GA.	Construction	Stockpile STI	VII - Total			\$4,076.80	
	1030 -	- Total						\$4,076.80	
	1040	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$1,226.40	Payment Estimate Item Adjustment generated Stockpile Transaction
		IN. F331 - 12 GA.	STIVII	- Total				\$1,226.40	
			Construction	Stockpile STI	MI - Total			\$1,226.40	
	1040 -	- Total						\$1,226.40	
	1050	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$310.80	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$310.80	
			Construction	Stockpile STI	MI - Total			\$310.80	
	1050 -	Total						\$310.80	
	1060	2.5 IN. PSST POST - 12 GA.	Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$3,323.52	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 1	- Total				\$3,323.52	
	40		Construction	Stockpile STI	vii - Total			\$3,323.52	
		Total						\$3,323.52	
	1070	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$1,924.16	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 1	- Total				\$1,924.16	
			Construction	Stockpile STI	MI - Total			\$1,924.16	
		- Total						\$1,924.16	
	1080	SH-FLAT SHEET	Construction Stockpile STMI	Total	4	Dec 31, 2024	SYSTEM	\$752.40	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$752.40	
	4000	Tatal	Construction	Stocкріїе S I I	vii - I otai			\$752.40	
		- Total	ICTURAL Construction		4	D 04	OVOTEM	\$752.40	Decreased Father de News Adjustes and some and of Charles In Towns of the
	1090	ST-STRUCTURAL	Construction Stockpile STMI	- Total	4	Dec 31, 2024	SYSTEM	\$1,002.40 \$1,002.40	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		MI - Total			\$1,002.40	
	1090	- Total	Construction (Stockpile STMI - Total				\$1,002.40	
	1100	SHF-FLAT SHEET	Construction		4	Dec 31,	SYSTEM	\$3.348.80	Payment Estimate Item Adjustment generated Stockpile Transaction
	1100	FLUORESCENT	Stockpile STMI	- Total	7	2024	OTOTEM	\$3,348.80	Tayrion Estimate from Adjustment generated electric Transaction
			Construction	- Total				\$3,348.80	
	1100 -	- Total						\$3,348.80	
	1120	BRIDGE APPROACH SLAB	Material		18	Oct 16, 2025	SYSTEM	(\$58,140.00)	
		(MAJOR ROAD)		18	18	Oct 16, 2025	SYSTEM	\$58,140.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					19	Nov 3, 2025	SYSTEM	(\$58,140.00)	Zamas Zaspien o on no sanom cynon Zamas.
					19	Nov 3, 2025	SYSTEM	\$58,140.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coolec1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					20	Nov 17, 2025	SYSTEM	(\$58,140.00)	, .,
					20	Nov 17, 2025	SYSTEM	\$58,140.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user coolec1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1120 -	- Total						\$0.00	
	1130	GALVANIZED STRUCTURAL	Construction Stockpile		12	Jul 16, 2025	SYSTEM	(\$11,597.58)	Payment Estimate Item Adjustment generated Stockpile Transaction
		STEEL PILES (12							



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks						
J9P3751	1130	IN	Construction Stockpile		13	Aug 4, 2025	SYSTEM	(\$3,782.42)	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				(\$15,380.00)							
			Construction	Stockpile - To				(\$15,380.00)							
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$15,380.00	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				\$15,380.00							
			Construction	Stockpile STN	VII - Total			\$15,380.00							
	1130 -							\$0.00							
	1140	PILE POINT REINFORCEMENT	Construction Stockpile		12	Jul 16, 2025	SYSTEM	(\$1,000.00)	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				(\$1,000.00)							
			Construction	Stockpile - To			0)10==11	(\$1,000.00)							
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$1,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				\$1,000.00							
			Construction	Stockpile STM	VII - Total			\$1,000.00							
		Total						\$0.00							
	1150	CLASS B CONCRETE (SUBSTRUCTURE)	Material		13	Aug 4, 2025	SYSTEM	(\$93,150.00)							
		(SOBSTRUCTURE)			13	Aug 4, 2025	SYSTEM	\$93,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.						
					14	Aug 18, 2025	SYSTEM	(\$93,150.00)							
					14	Aug 18, 2025	SYSTEM	\$93,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.						
				- Total				\$0.00							
			Material - Tota					\$0.00							
	1150 -	Total						\$0.00							
	1160	TYPE D BARRIER	Material		20	Nov 17, 2025	SYSTEM	(\$35,250.00)							
					20	Nov 17, 2025	SYSTEM	\$35,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coolec1 overridding Payment Estimate Exception 18 on the current Payment Estimate.						
				- Total				\$0.00							
			Material - Tota	ıl				\$0.00							
	1160 -	Total						\$0.00							
	1170	SLAB ON CONCRETE NU- GIRDER	Construction Stockpile		15	Sep 2, 2025	SYSTEM	(\$6,617.72)	Payment Estimate Item Adjustment generated Stockpile Transaction						
					16	Sep 16, 2025	SYSTEM	(\$1,330.19)	Payment Estimate Item Adjustment generated Stockpile Transaction						
						1				1	17	Oct 1, 2025	SYSTEM	(\$4,622.43)	Payment Estimate Item Adjustment generated Stockpile Transaction
					18	Oct 16, 2025	SYSTEM	(\$665.09)	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				(\$13,235.43)							
			Construction	Stockpile - To	otal			(\$13,235.43)							
			Construction Stockpile		6	Feb 3, 2025	SYSTEM	\$13,235.43	Payment Estimate Item Adjustment generated Stockpile Transaction						
			STMI	- Total				\$13,235.43							
			Construction S	Stockpile STM	MI - Total			\$13,235.43							
			Material		15	Sep 2, 2025	SYSTEM	(\$119,400.00)							
					15	Sep 2, 2025	SYSTEM	\$119,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user coolec1 overridding Payment Estimate Exception 5 on the current Payment Estimate.						
					16	Sep 16, 2025	SYSTEM	(\$143,400.00)							



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3751	1170	SLAB ON CONCRETE NU- GIRDER	Material		16	Sep 16, 2025	SYSTEM	\$143,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					17	Oct 1, 2025	SYSTEM	(\$226,800.00)	
					17	Oct 1, 2025	SYSTEM	\$226,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user coolec1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	1170 -	- Total						\$0.00	
	1200	VERTICAL DRAIN AT END BENTS	Material		17	Oct 1, 2025	SYSTEM	(\$7,200.00)	
					17	Oct 1, 2025	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user coolec1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					18	Oct 16, 2025	SYSTEM	(\$7,200.00)	
					18	Oct 16, 2025	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user coolec1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					19	Nov 3, 2025	SYSTEM	(\$7,200.00)	
					19	Nov 3, 2025	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coolec1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	1200 -	- Total						\$0.00	
	1210	PLAIN NEOPRENE BEARING PAD	Construction Stockpile		14	Aug 18, 2025	SYSTEM	(\$880.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		BEAKING PAD		- Total				(\$880.00)	
			Construction	Stockpile - To	otal			(\$880.00)	
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$880.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			SIMI	- Total				\$880.00	
			Construction		/II - Total			\$880.00	
			Material		14	Aug 18, 2025	SYSTEM	(\$2,800.00)	
					14	Aug 18, 2025	SYSTEM	\$2,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coolec1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	1210 -	- Total						\$0.00	
		- Total BRIDGE APPROACH SLAB (MAJOR ROAD)		40	N 0				
	1230		Construction Stockpile		19	Nov 3, 2025	SYSTEM	(\$4,346.55)	Payment Estimate Item Adjustment generated Stockpile Transaction
	1230	APPROACH SLAB		- Total	19		SYSTEM	(\$4,346.55)	Payment Estimate Item Adjustment generated Stockpile Transaction
	1230	APPROACH SLAB					SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
	1230	APPROACH SLAB	Construction Construction Stockpile				SYSTEM	(\$4,346.55)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
	1230	APPROACH SLAB	Stockpile Construction Construction		otal	2025 Feb 3,		(\$4,346.55) (\$4,346.55)	
	1230	APPROACH SLAB	Construction Construction Stockpile	Stockpile - To	otal 6	2025 Feb 3,		(\$4,346.55) (\$4,346.55) \$4,346.55	
	1230	APPROACH SLAB	Construction Construction Stockpile STMI	Stockpile - To	otal 6	2025 Feb 3,		(\$4,346.55) (\$4,346.55) \$4,346.55 \$4,346.55	
	1230	APPROACH SLAB	Stockpile Construction Construction Stockpile STMI Construction	Stockpile - To	otal 6 VII - Total	Feb 3, 2025	SYSTEM	(\$4,346.55) (\$4,346.55) \$4,346.55 \$4,346.55	
	1230	APPROACH SLAB	Stockpile Construction Construction Stockpile STMI Construction	Stockpile - To	otal 6 MI - Total 19	Peb 3, 2025 Nov 3, 2025 Nov 3,	SYSTEM	(\$4,346.55) (\$4,346.55) \$4,346.55 \$4,346.55 \$4,346.55 (\$58,140.00)	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coolect overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3751	1230	BRIDGE	Material	, ,,					Estimate Exception 8 on the current Payment Estimate.
		APPROACH SLAB (MAJOR ROAD)		- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	1230 -	Total						\$0.00	
	1240	GALVANIZED STRUCTURAL STEEL PILES (12	Construction Stockpile		12	Jul 16, 2025	SYSTEM	(\$11,452.61)	Payment Estimate Item Adjustment generated Stockpile Transaction
		IN			13	Aug 4, 2025	SYSTEM	(\$3,927.39)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$15,380.00)	
			Construction	Stockpile - To	otal			(\$15,380.00)	
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$15,380.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$15,380.00	
			Construction	Stockpile STI	MI - Total			\$15,380.00	
	1240 -	Total						\$0.00	
	1250	PILE POINT REINFORCEMENT	Construction Stockpile		12	Jul 16, 2025	SYSTEM	(\$1,000.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,000.00)	
			Construction	Stockpile - To	otal			(\$1,000.00)	
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$1,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,000.00	
			Construction	Stockpile STI	MI - Total			\$1,000.00	
	1250 -	Total						\$0.00	
	1260	CLASS B CONCRETE (SUBSTRUCTURE)	SS B Material CRETE		14	Aug 18, 2025	SYSTEM	(\$95,700.00)	
					14	Aug 18, 2025	SYSTEM	\$95,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	1260 -	Total						\$0.00	
	1280	SLAB ON CONCRETE NU-	Construction Stockpile		15	Sep 2, 2025	SYSTEM	(\$2,721.03)	Payment Estimate Item Adjustment generated Stockpile Transaction
		GIRDER			16	Sep 16, 2025	SYSTEM	(\$1,791.35)	Payment Estimate Item Adjustment generated Stockpile Transaction
					17	Oct 1, 2025	SYSTEM	(\$4,058.87)	Payment Estimate Item Adjustment generated Stockpile Transaction
					18	Oct 16, 2025	SYSTEM	(\$453.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$9,024.75)	
			Construction	Stockpile - To				(\$9,024.75)	
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$9,024.75	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$9,024.75	
			Construction	Stockpile STI				\$9,024.75	
			Material		15	Sep 2, 2025	SYSTEM	(\$72,000.00)	
					15	Sep 2, 2025	SYSTEM	\$72,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user coolec1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					16	Sep 16, 2025	SYSTEM	(\$119,400.00)	
					16	Sep 16, 2025	SYSTEM	\$119,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coolec1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					17	Oct 1, 2025	SYSTEM	(\$226,800.00)	
					17	Oct 1, 2025	SYSTEM	\$226,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user coolec1 overridding Payment



SLAS ON CHEETER NU-
18
2025 SYSTEM S238,800.00
2025 19
2025 SYSTEM \$238,800.00
2025 20
2025 Estimate Item Adjustment (0005) due to user coolect overridding Payment Estimate Exception 19 on the current Payment Estimate. 30.00
1280 - Total
1310 VERTICAL DRAIN Material 17
1310 VERTICAL DRAIN AT END BENTS Material 17
AT END BENTS
2025 Estimate Item Adjustment (0017) due to user coolect overridding Payment Estimate Exception 10 on the current Payment Estimate.
18
Estimate Item Adjustment (0020) due to user coolect overridding Payment Estimate Exception 10 on the current Payment Estimate. 19 Nov 3, 2025 SYSTEM (\$7,200.00) 19 Nov 3, 2025 SYSTEM \$7,200.00 19 Nov 3, 2025 SYSTEM \$7,200.00 10 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user coolect overridding Payment Estimate Exception 24 on the current Payment Estimate. 1310 - Total S0.00 1310 - Total Sep 2, 2025 SYSTEM (\$880.00) Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI 1320 - Total S880.00 1330 - Total S880.00 1340 - Total S880.00 1350 - GALVANIZED STMI - Total S880.00 1350 - GALVANIZED STMI - Total S880.00 1350 - GALVANIZED STRUCTURAL STEEL PILES (12) SYSTEM
2025 19 Nov 3, 2025 19 Nov 3, 2025 19 Nov 3, 2025 2025
Estimate Item Adjustment (0009) due to user coolec1 overridding Payment Estimate Exception 24 on the current Payment Estimate. Total S0.00 1310 - Total
Total Summer Su
1310 - Total \$0.00
1320 PLAIN NEOPRENE BEARING PAD Stockpile 15 Sep 2, 2025 SYSTEM (\$880.00) Payment Estimate Item Adjustment generated Stockpile Transaction (\$880.00)
BEARING PAD Stockpile 2025 (\$880.00)
Construction Stockpile - Total Construction Stockpile STMI Construction Stockpile STMI - Total Construction Stockpile STMI - Total S880.00 Construction Stockpile STMI - Total \$880.00 Construction Stockpile STMI - Total \$880.00 Construction Stockpile STMI - Total \$0.00 STRUCTURAL STEEL PILES (12 IN STEEL PILES (12 IN STEEL
Construction Stockpile STMI 6 Feb 3, 2025 \$YSTEM \$880.00 Payment Estimate Item Adjustment generated Stockpile Transaction Total \$880.00 Construction Stockpile STMI - Total \$880.00 320 - Total \$0.00 3
- Total \$880.00 Construction Stockpile STMI - Total \$880.00 1320 - Total \$0.00 1350 GALVANIZED STRUCTURAL STEL PILES (12 IN STEL PILES
1320 - Total S0.00 GALVANIZED STRUCTURAL STEL PILES (12 IN N 12 IN N 13 Aug 4, SYSTEM (\$12,145.12) Payment Estimate Item Adjustment generated Stockpile Transaction (\$12,145.12) Payment Estimate Item Adjustment generated Stockpile Transaction (\$12,1834.88) Payment Estimate Item Adjustment generated Stockpile Transaction
1350 GALVANIZED STRUCTURAL STEEL PILES (12 IN STEEL
STRUCTURAL STEEL PILES (12 IN STEEL PILES (12) 13 Aug 4, SYSTEM (\$1,834.88) Payment Estimate Item Adjustment generated Stockpile Transaction
IN 13 Aug 4, SYSTEM (\$1,834.88) Payment Estimate Item Adjustment generated Stockpile Transaction
- Total (\$13,980.00)
Construction Stockpile - Total (\$13,980.00)
Construction 6 Feb 3, SYSTEM \$13,980.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile
STMI
- Total \$13,980.00
- Total \$13,980.00 Construction Stockpile STMI - Total \$13,980.00
STMI
STMI - Total S13,980.00 Construction Stockpile STMI - Total \$13,980.00 1350 - Total \$0.00 1360 PILE POINT REINFORCEMENT Stockpile 12 Jul 16, 2025 SYSTEM (\$1,000.00) Payment Estimate Item Adjustment generated Stockpile Transaction
STMI



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
J9P3751	1360	PILE POINT REINFORCEMENT	Construction Stockpile		6	Feb 3, 2025	SYSTEM	\$1,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
			STMI	- Total				\$1,000.00			
			Construction	Stockpile STI	/II - Total			\$1,000.00			
	1360 -	Total						\$0.00			
	1370	CLASS B CONCRETE (SUBSTRUCTURE)	Material		13	Aug 4, 2025	SYSTEM	(\$73,200.00)			
		,			13	Aug 4, 2025	SYSTEM	\$73,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
					14	Aug 18, 2025	SYSTEM	(\$73,200.00)			
					14	Aug 18, 2025	SYSTEM	\$73,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coolec1 overridding Payment Estimate Exception 4 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - Tota	ı				\$0.00			
	1370 -	Total						\$0.00			
	1380	TYPE D BARRIER	Material		18	Oct 16, 2025	SYSTEM	(\$35,250.00)			
					18	Oct 16, 2025	SYSTEM	\$35,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user coolec1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
					19	Nov 3, 2025	SYSTEM	(\$35,250.00)			
					19	Nov 3, 2025	SYSTEM	\$35,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user coolec1 overridding Payment Estimate Exception 20 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - Tota	ı				\$0.00			
	1380 -	Total						\$0.00			
	1390	GIRDER	Construction Stockpile		14	Aug 18, 2025	SYSTEM	(\$5,615.05)	Payment Estimate Item Adjustment generated Stockpile Transaction		
				15 16 17	15	Sep 2, 2025	SYSTEM	(\$1,123.02)	Payment Estimate Item Adjustment generated Stockpile Transaction		
						Sep 16, 2025	SYSTEM	(\$3,930.52)	Payment Estimate Item Adjustment generated Stockpile Transaction		
					Oct 1, 2025	SYSTEM	(\$561.51)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$11,230.10)			
			Construction	Stockpile - To				(\$11,230.10)			
			Construction Stockpile STMI		6	Feb 3, 2025	SYSTEM	\$11,230.10	Payment Estimate Item Adjustment generated Stockpile Transaction		
			Construction	- Total				\$11,230.10			
				stockpile STI			0)/0==:	\$11,230.10			
					Material		14	Aug 18, 2025	SYSTEM	(\$93,750.00)	This adjustment effects the original system generated Material Doument
						2025	STSTEM	\$93,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user coolec1 overridding Payment Estimate Exception 7 on the current Payment Estimate.		
					15	Sep 2, 2025	SYSTEM	(\$112,500.00)			
					15	Sep 2, 2025	SYSTEM	\$112,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user coolec1 overridding Payment Estimate Exception 7 on the current Payment Estimate.		
					16	Sep 16, 2025	SYSTEM	(\$178,125.00)			
					16	Sep 16, 2025	SYSTEM	\$178,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user coolec1 overridding Payment Estimate Exception 5 on the current Payment Estimate.		
					17	Oct 1, 2025	SYSTEM	(\$187,500.00)			
					17	Oct 1,	SYSTEM	\$187,500.00	This adjustment offsets the original system-generated Material Payment		



t L	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
51 1	390	SLAB ON CONCRETE NU- GIRDER	Material			2025			Estimate Item Adjustment (0022) due to user coolec1 overridding Paymen Estimate Exception 8 on the current Payment Estimate.
					18	Oct 16, 2025	SYSTEM	(\$187,500.00)	
					18	Oct 16, 2025	SYSTEM	\$187,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user coolec1 overridding Paymen Estimate Exception 8 on the current Payment Estimate.
					19	Nov 3, 2025	SYSTEM	(\$187,500.00)	
					19	Nov 3, 2025	SYSTEM	\$187,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user coolec1 overridding Paymer Estimate Exception 22 on the current Payment Estimate.
					20	Nov 17, 2025	SYSTEM	(\$187,500.00)	
					20	Nov 17, 2025	SYSTEM	\$187,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user coolec1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
1	390 -	Total						\$0.00	
		VERTICAL DRAIN AT END BENTS	Material		17	Oct 1, 2025	SYSTEM	(\$6,000.00)	
		AI END BENTS	NIO		17	Oct 1, 2025	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user coolec1 overridding Paymen Estimate Exception 11 on the current Payment Estimate.
					18	Oct 16, 2025	SYSTEM	(\$6,000.00)	
					18	Oct 16, 2025	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user coolec1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					19	Nov 3, 2025	SYSTEM	(\$6,000.00)	
					19	Nov 3, 2025	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer Estimate Exception 25 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
1	420 -	Total						\$0.00	
		PLAIN NEOPRENE BEARING PAD	IN NEOPRENE Construction		14	Aug 18, 2025	SYSTEM	(\$880.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
								(\$880.00)	
			Construction	Stockpile - To	otal			(\$880.00)	
			Construction Stockpile		6	Feb 3, 2025	SYSTEM	\$880.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$880.00	
			Construction		MI - Total			\$880.00	
			Construction	Stockpil <u>e ST</u>				\$000.00	
			Construction Material	Stockpile ST	14	Aug 18, 2025	SYSTEM	(\$2,800.00)	
				Stockpile ST			SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer Estimate Exception 10 on the current Payment Estimate.
				Stockpile ST	14	2025 Aug 18,		(\$2,800.00)	Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer
				- Total	14	2025 Aug 18,		(\$2,800.00) \$2,800.00	Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer
1	430 -	Total	Material	- Total	14	2025 Aug 18,		(\$2,800.00) \$2,800.00 \$0.00	Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer
		CLASS B-1 CONCRETE	Material	- Total	14	2025 Aug 18,		(\$2,800.00) \$2,800.00 \$0.00	Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer
		CLASS B-1	Material Material - Tota	- Total	14	2025 Aug 18, 2025	SYSTEM	(\$2,800.00) \$2,800.00 \$0.00 \$0.00	Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer
		CLASS B-1 CONCRETE (CULVERTS-	Material Material - Tota	- Total	14 14 8	Apr 2, 2025 Apr 2, 2025	SYSTEM	(\$2,800.00) \$2,800.00 \$0.00 \$0.00 (\$80,000.00)	Estimate Item Adjustment (0012) due to user coolec1 overridding Paymer Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user coolec1 overridding Payment



J9P3751 1470 CLASS B-1 CONCRETE (CULVERTS-BRIDGE) Material 10 Jun 16, SYSTEM (\$165,000.00) Estimate Exception 1 on the current Payment Estimate Exception 2 or Estimate Exception 2 or Estimate Exception 2 or Estimate Exception 2 or Estimate Exception 3 or Estimate Exception 3 or Estimate Exception 2 or Estimate Exception 3 or Estimat	
(CULVERTS- BRIDGE) 10	ate.
2025 Estimate Item Adjustment (0001) due to user coolec Estimate Exception 1 on the current Payment Estimate	1 overridding Payment
11 Jul 1, 2025 SYSTEM (\$32,000.00)	
11 Jul 1, 2025 \$YSTEM \$32,000.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0001) due to user coolec Estimate Exception 2 on the current Payment Estimate	1 overridding Payment
12 Jul 16, 2025 SYSTEM (\$53,500.00)	
12 Jul 16, 2025 \$YSTEM \$53,500.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0007) due to user coolec Estimate Exception 2 on the current Payment Estimate	1 overridding Payment
13 Aug 4, SYSTEM (\$53,500.00)	
13 Aug 4, 2025 \$SYSTEM \$53,500.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0006) due to user coolec Estimate Exception 4 on the current Payment Estimate	1 overridding Payment
14 Aug 18, 2025 (\$53,500.00)	
14 Aug 18, 2025 \$SYSTEM \$53,500.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0013) due to user coolec Estimate Exception 5 on the current Payment Estimate	1 overridding Payment
- Total \$0.00	
Material - Total \$0.00	
1470 - Total \$0.00	
1520 CLASS B-1 Material 13 Aug 4, SYSTEM (\$115,000.00) CONCRETE	
(CULVERTS-BRIDGE) 13 Aug 4, 2025 SYSTEM \$115,000.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0007) due to user coolec Estimate Exception 5 on the current Payment Estimate Estimate Exception 5 on the current Payment Estimate E	1 overridding Payment
14 Aug 18, SYSTEM (\$253,000.00)	
Aug 18, 2025 SYSTEM \$253,000.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0014) due to user coolec Estimate Exception 6 on the current Payment Estimate	1 overridding Payment
15 Sep 2, 2025 SYSTEM (\$137,300.00)	
15 Sep 2, 2025 SYSTEM \$137,300.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0023) due to user coolec Estimate Exception 4 on the current Payment Estimate	1 overridding Payment
- Total \$0.00	
Material - Total \$0.00	
Material - Total \$0.00 1520 - Total \$0.00	
Material - Total \$0.00	
Material - Total \$0.00	1 overridding Payment
Material - Total \$0.00	1 overridding Payment
1520 - Total \$0.00	1 overridding Payment
1520 - Total \$0.00	1 overridding Payment
Material - Total \$0.00	1 overridding Payment ate.
Material - Total \$0.00	1 overridding Payment ate.
Material - Total \$0.00	11 overridding Payment ate.
1520 - Total	11 overridding Payment ate. Type applied is FUEL Type applied is FUEL



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks								
J9P3764	1560	CLASS A EXCAVATION	Price FUEL		15	Sep 2, 2025	SYSTEM	\$202.62	Reference Item Price Adjustment Index Adjustment Type applied is FUEL								
				- Total				\$1,207.72									
			Price FUEL - Total					\$1,207.72									
	1560 -	Total						\$1,207.72									
	1570	EMBANKMENT IN PLACE	Price FUEL		15	Sep 2, 2025	SYSTEM	\$80.82	Reference Item Price Adjustment Index Adjustment Type applied is FUEL								
				- Total				\$80.82									
	4570	T-4-1	Price FUEL - Total					\$80.82									
	1570 - 1580	COMPACTING	Material		11	lul 4	SYSTEM	\$80.82									
	1300	EMBANKMENT	iviaterial		11	Jul 1, 2025 Jul 1,	SYSTEM	(\$37,240.00) \$37,240.00	This adjustment offsets the original system-generated Material Payment								
						2025			Estimate Item Adjustment (0008) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.								
					12	Jul 16, 2025	SYSTEM	(\$57,920.00)									
					12	Jul 16, 2025	SYSTEM	\$57,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.								
				- Total				\$0.00									
			Material - Tota					\$0.00									
	1580 -	Total						\$0.00									
	1640	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material Material		15	Sep 2, 2025	SYSTEM	(\$96,860.00)									
					16	Sep 16, 2025	SYSTEM	(\$272,860.00)									
					16	Sep 16, 2025	SYSTEM	\$272,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
					17	Oct 1, 2025	SYSTEM	(\$308,760.00)									
					17	Oct 1, 2025	SYSTEM	\$308,760.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user coolec1 overridding Payment Estimate Exception 5 on the current Payment Estimate.								
					18	Oct 16, 2025	SYSTEM	(\$17,070.00)									
					18	Oct 16, 2025	SYSTEM	\$17,070.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
					19	Nov 3, 2025	SYSTEM	(\$17,070.00)									
													19	Nov 3, 2025	SYSTEM	\$17,070.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
											20	Nov 17, 2025	SYSTEM	(\$17,070.00)			
						20	Nov 17, 2025	SYSTEM	\$17,070.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
				- Total				(\$96,860.00)									
			Material - Tota					(\$96,860.00)									
			MaterialCredit		16	Sep 16, 2025	SYSTEM	\$96,860.00									
				- Total				\$96,860.00									
			MaterialCredit	- Total				\$96,860.00									
			Price FUEL		15	Sep 2, 2025	SYSTEM	\$398.77	Reference Item Price Adjustment Index Adjustment Type applied is FUEL								
					16	Sep 16, 2025	SYSTEM	\$441.24	Reference Item Price Adjustment Index Adjustment Type applied is FUEL								
					17	Oct 1, 2025	SYSTEM	\$90.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL								
				- Total				\$930.01									



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
,		·	Туре	Adjustment Type	Number	Date	Ву		
J9P3764	1640	TYPE 5 AGGREGATE FOR BASE (6 IN.	Price FUEL - T	otal				\$930.01	
	1010	THICK)						****	
		Total						\$930.01	
	1670	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD	19	Nov 3, 2025	coolec1	\$115.38	AC Price Adjustment (Tons)
		,			20	Nov 17, 2025	coolec1	\$76.36	AC Adjustment
				ACAD - Tota	al			\$191.74	
			Other Item Ad	justment - To	tal			\$191.74	
			Price FUEL		19	Nov 3, 2025	SYSTEM	\$23.23	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					20	Nov 17, 2025	SYSTEM	\$43.58	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$66.81	
			Price FUEL - T	otal				\$66.81	
	1670 -	Total						\$258.55	
	1690	TACK COAT	Material		19	Nov 3, 2025	SYSTEM	(\$330.00)	
					19	Nov 3, 2025	SYSTEM	\$330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1690 -	Total						\$0.00	
	1700	CONCRETE PAVEMENT (7 IN.	Material		19	Nov 3, 2025	SYSTEM	(\$25,665.00)	
		NON-REINF)			19	Nov 3, 2025	SYSTEM	\$25,665.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user coolec1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					20	Nov 17, 2025	SYSTEM	(\$49,252.50)	
					20	Nov 17, 2025	SYSTEM	\$49,252.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user coolec1 overridding Payment
									Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Price FUEL		19	Nov 3, 2025	SYSTEM	\$10.73	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				2025		Nov 17, 2025	SYSTEM	\$27.68 \$38.41	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total					
			Price FUEL - T	otal				\$38.41	
	1700 -	Total						\$38.41	
	2080	4 IN. WHITE WATERBORNE	Material		20	Nov 17, 2025	SYSTEM	(\$3,443.20)	
		PAVEMENT MARKING			20	Nov 17, 2025	SYSTEM	\$3,443.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user coolec1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception 14 on the current ayment Estimate.
			Material - Tota					\$0.00	
	2000	Total	material - Tota	•					
		Total	NA-AI-I		00	Man 47	OVOTE:	\$0.00	
	2090	4 IN. YELLOW WATERBORNE PAVEMENT	Material		20	Nov 17, 2025	SYSTEM	(\$3,442.60)	
		MARKING			20	Nov 17, 2025	SYSTEM	\$3,442.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coolec1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	2090	Total						\$0.00	
	2030 -	Juli						φυ.υυ	



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks								
764	2170	18 IN. PIPE CULVERT GROUP	Material	,	13	Aug 4, 2025	SYSTEM	(\$4,000.00)									
		В			13	Aug 4, 2025	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user coolec1 overridding Payment Estimate Exception 6 on the current Payment Estimate.								
					14	Aug 18, 2025	SYSTEM	(\$4,000.00)									
					14	Aug 18, 2025	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user coolec1 overridding Payment Estimate Exception 11 on the current Payment Estimate.								
					15	Sep 2, 2025	SYSTEM	(\$5,850.00)									
					15	Sep 2, 2025	SYSTEM	\$5,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user coolec1 overridding Payment Estimate Exception 9 on the current Payment Estimate.								
					16	Sep 16, 2025	SYSTEM	(\$5,850.00)									
					16	Sep 16, 2025	SYSTEM	\$5,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user coolec1 overridding Payment Estimate Exception 7 on the current Payment Estimate.								
					17	Oct 1, 2025	SYSTEM	(\$12,600.00)									
					17	Oct 1, 2025	SYSTEM	\$12,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user coolec1 overridding Payment Estimate Exception 13 on the current Payment Estimate.								
				- Total				\$0.00									
			Material - Tota	ıl				\$0.00									
	2170 -	Total						\$0.00									
	2310	SEEDING - COOL SEASON GRASSES	Material		16	Sep 16, 2025	SYSTEM	(\$22,500.00)									
					16	Sep 16, 2025	SYSTEM	\$22,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user coolec1 overridding Payment Estimate Exception 8 on the current Payment Estimate.								
					17	Oct 1, 2025	SYSTEM	(\$22,500.00)									
					17	Oct 1, 2025	SYSTEM	\$22,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user coolec1 overridding Payment Estimate Exception 14 on the current Payment Estimate.								
					18	Oct 16, 2025	SYSTEM	(\$22,500.00)									
							18	Oct 16, 2025	SYSTEM	\$22,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user coolec1 overridding Payment Estimate Exception 12 on the current Payment Estimate.						
														19	Nov 3, 2025	SYSTEM	(\$22,500.00)
						19	Nov 3, 2025	SYSTEM	\$22,500.00	Estimate Item Adjustment (0020) due to user coolec1 overridding Payment							
									Estimate Exception 26 on the current Payment Estimate.								
				- Total				\$0.00	Estimate Exception 26 on the current Payment Estimate.								
			Material - Tota					\$0.00	Estimate Exception 26 on the current Payment Estimate.								
	2310 -						01/2=	\$0.00 \$0.00	Estimate Exception 26 on the current Payment Estimate.								
		Total 11 IN, ASPH CONC PAVE SP125C	Material - Total		20	Nov 17, 2025	SYSTEM	\$0.00 \$0.00 (\$809,625.00)									
		11 IN, ASPH CONC		1	20		SYSTEM	\$0.00 \$0.00 (\$809,625.00) \$809,625.00	Estimate Exception 26 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								
		11 IN, ASPH CONC	Material	l - Total		2025 Nov 17,		\$0.00 \$0.00 (\$809,625.00) \$809,625.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment								
		11 IN, ASPH CONC	Material Material - Tota	- Total	20	2025 Nov 17, 2025	SYSTEM	\$0.00 \$0.00 (\$809,625.00) \$809,625.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								
		11 IN, ASPH CONC	Material	- Total	20	2025 Nov 17,		\$0.00 \$0.00 (\$809,625.00) \$809,625.00 \$0.00 \$0.00 \$6,530.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment								
		11 IN, ASPH CONC	Material - Total Other Item Adjustment	- Total II ACAD	20 20	2025 Nov 17, 2025 Nov 17,	SYSTEM	\$0.00 \$0.00 (\$809,625.00) \$809,625.00 \$0.00 \$0.00 \$6,530.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								
		11 IN, ASPH CONC	Material Material - Tota Other Item	- Total II ACAD	20 20	2025 Nov 17, 2025 Nov 17,	SYSTEM	\$0.00 \$0.00 (\$809,625.00) \$809,625.00 \$0.00 \$0.00 \$6,530.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								



et	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
64 2	2415	11 IN, ASPH CONC PAVE SP125C	Price FUEL	- Total				\$5,101.84	
		PAVE SP125C	Price FUEL - Total						
2	2415 -	Total						\$11,632.82	
2	2480	7 INCHES, BITUMINOUS	Material		20	Nov 17, 2025	SYSTEM	(\$909,602.10)	
		PAVEMENT			20	Nov 17, 2025	SYSTEM	\$909,602.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Other Item Adjustment	ACAD	19	Nov 3, 2025	coolec1	\$8,478.99	AC Price Adjustment (SqYd)
					20	Nov 17, 2025	coolec1	\$1,492.33	AC Adjustment
				ACAD - Tota	al			\$9,971.32	
			Other Item Ad	justment - To	otal			\$9,971.32	
			Price FUEL		19	Nov 3, 2025	SYSTEM	\$1,706.98	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					20	Nov 17, 2025	SYSTEM	\$845.58	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$2,552.56	
			Price FUEL - 1	otal				\$2,552.56	
2	2480 -	Total						\$12,523.88	
4	2520	MGS GUARDRAIL	Construction Stockpile		2	Dec 2, 2024	SYSTEM	\$6,122.75	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$6,122.75	
			Construction	Stockpile STI	MI - Total			\$6,122.75	
2	2520 -	Total						\$6,122.75	
2	2550	TYPE A CRASHWORTHY	Construction Stockpile		2	Dec 2, 2024	SYSTEM	\$3,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)	STMI	- Total				\$3,700.00	
			Construction	Stockpile STI	MI - Total			\$3,700.00	
2	2550 -	Total						\$3,700.00	
2	2560	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$19,293.75	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$19,293.75	
		Construction Stockpile STMI - Total			\$19,293.75				
	2560 -							\$19,293.75	
2	2580	STRUCTURAL STEEL POSTS	Construction Stockpile STMI		7	Feb 17, 2025	SYSTEM	\$9,699.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$9,699.00	
			Construction	Stockpile STI	MI - Total			\$9,699.00	
	2580 - 2590	Total 7 FT. CHAN. POST	Construction		4	Dec 31,	SYSTEM	\$9,699.00 \$790.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		DELINE., WHITE	Stockpile STMI	- Total		2024		\$790.00	, , , , , , , , , , , , , , , , , , , ,
			Construction		MI - Total			\$790.00	
	2590 -	Total	Jonou donon	Casompile of I	Potal			\$790.00	
		2 IN. PSST POST -	Construction		20	Nov 17,	SYSTEM	(\$1,411.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
	_000	12 GA.	Stockpile	- Total		2025	S. S. LIVI	(\$1,411.20)	, Transaction
			Construction		ntal			(\$1,411.20)	
			Construction	Stockpile - 10	4	Dec 31,	SYSTEM	\$2,665.60	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	Total	7	2024	OTOTEW		r symon. Estimate nom regisament generated stockpile fransaciioff
			Construction	- Total	MI Total			\$2,665.60 \$2,665.60	
	0000	Tatal	Construction	Stockpile STI	wii - Total			\$2,665.60	
2	2600 -	ıotal						\$1,254.40	



De-1- 1	1 !	De contrat	A 41: t	CH-	F-4	Cr	Crest	A	Dimini	
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J9P3764	2610	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	Construction Stockpile		20	Nov 17, 2025	SYSTEM	(\$459.90)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		IN. P551 - 12 GA.		- Total				(\$459.90)		
			Construction	Stockpile - To	otal			(\$459.90)		
			Construction Stockpile		4	Dec 31, 2024	SYSTEM	\$868.70	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$868.70		
			Construction	Stockpile STI	MI - Total			\$868.70		
	2610 -	- Total						\$408.80		
	2620	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		20	Nov 17, 2025	SYSTEM	(\$738.56)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$738.56)		
			Construction	Stockpile - To	otal			(\$738.56)		
			Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$1,846.40	Payment Estimate Item Adjustment generated Stockpile Transaction	
			OTIMI	- Total				\$1,846.40		
			Construction	Stockpile STI	MI - Total			\$1,846.40		
	2620 -	- Total						\$1,107.84		
	2630	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile		20	Nov 17, 2025	SYSTEM	(\$481.04)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$481.04)		
			Construction	Stockpile - To	otal			(\$481.04)		
			Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$1,202.60	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$1,202.60		
			Construction	Stockpile STI	MI - Total			\$1,202.60		
	2630 -	- Total						\$721.56		
	2640	SH-FLAT SHEET	Construction Stockpile		20	Nov 17, 2025	SYSTEM	(\$339.57)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$339.57)		
			Construction	Stockpile - To			0) (0 === 1	(\$339.57)		
				Construction Stockpile STMI	Takal	4	Dec 31, 2024	SYSTEM	\$1,089.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			O a marking a file of	- Total	W. T-4-1			\$1,089.00		
	0040	T-4-1	Construction	Stocкріїе S I I	vii - I otai			\$1,089.00		
	2650	- Total ST-STRUCTURAL	Construction Stockpile		4	Dec 31, 2024	SYSTEM	\$749.43 \$11,277.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$11,277.00		
			Construction		MI - Tota <u>l</u>			\$11,277.00		
	2650 -	- Total						\$11,277.00		
	2660	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		20	Nov 17, 2025	SYSTEM	(\$560.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$560.00)		
			Construction	Stockpile - To	otal			(\$560.00)		
			Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$940.80	Payment Estimate Item Adjustment generated Stockpile Transaction	
			OTIVII	- Total				\$940.80		
			Construction	Stockpile STI	MI - Total			\$940.80		
	2660 -	- Total						\$380.80		
	2670	STF- STRUCTURAL FLUORESCENT	Construction Stockpile STMI		4	Dec 31, 2024	SYSTEM	\$322.20	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$322.20		
			Construction	Stockpile STI	MI - Total			\$322.20		
	2670 -	- Total						\$322.20		
J9P3764 -	Total							\$82,499.74		



Nov 19, 2025

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Overall -	Total					\$155,272.85			

MoDOT

Contract Adjustments for Contract - 240920-H02

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 29 of 29